Foundations of College Algebra
Spring 2017

O?l//?) }/ = SO0
Quiz #5 - M. Goodroe
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SHOW ALL WORK ON QUIZ, For full credit do the following: 1.) Solve the equation for the specified variable, 2.} State
which Algebra Power is being used per line, and 3.) Check the solution in the orginal (#1, #2, and #3).

Solve the equation.
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Solve the formula for the specified variable,
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SHOW ALL WORK ON QUIZ. For full credit do the following: 1.) Solve the equation for the specified variable, 2.) State
which Algebra Power is being used per line, and 3.) Check the solution in the orginal (#2, #3, and #4).

Solve the formula for the specified variable.
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SHOW ALL WORK ON QUIZ. For full credit do the following: 1.} Solve the equation for the specified variable, 2,) State
which Algebra Power is being used per line, and 3.) Check the solution in the orginal (#1, #2, and #3),
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Solve the equation,

2} -3x +3(2x -3} =1 - 7x; for x
CHypex —a = er o nl )43 (200 2) =1-7(1)
GV -2 = /-7 K ARdec, -3 42( - 1) ‘f”“’(/
ox= s0 A 4. -y b (-3 T T

=] e - -6

e e e

/ .

N {3 . I . b , |
B L1 tO o — »”2) . SRy 5‘)

3) 10x+5—5x E;}fc,f)a ! /}"?X - fj (

1o (J;—gm B > .

v, 7 S /3 / J

. ; CA/ N wm e e

JIN N E AR at 5 s S

(7= -a] A9 s
5
- /P J o
Solve the formula for the specified variable, ”“‘5‘1’” o7 wg /

4)V.—_—:1)J-Bh forh d(’, ,O,' 9

jy }‘(j@f’/? /(/C::&!/é f‘ﬁ(;-'/u\

77 Al 4 |

s e AT




Answer Key
Testname: QUIZ#SC(02-14-2017)

1) 60
2) 1
3) -2

3V
Hh=F




